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For instance if the choicest — 251727 N5712%10 P1917 N7 AnsTw 1I1AD
fields of the 11 were equivalent to the poorest fields of the P

Overview

The X7m3 explains that the difference between "7 (who maintains P1°172
12»w) and Y"1 (who maintains that 32w p172) is in a case where the
POT17 DOTY 1S P17 NP2, According to v"9 the Pt pays (only) with his
N1, and according to °"7 the P2 must pay with his N7y (which are
superior to the 1737 n°7°¥). Our Moo will discuss alternate cases' where
there would be a difference between y"1°"1.

mooIn anticipates and negates a different case where >"1 ¥"1 would argue:
— 19 VY MDY NIN DHWUM 1PNT 11 NNIDY 99197 99129130 18 XD NIOIN)

And the X3 could not have offered an opposite case and say that ¥"1 "9
are arguing where the P17 02t was like “p>m7 n>7y; for all agree (even
°"9) that in this case the p>12 pays only with the n>7>y that he possesses
(even though it is Pro17 P12°1) -

— AT 13 122N DI NN RIN Y PN 11 1IPY 19IINTI MIPY 7598 1PN)
And the p°m is not required to purchase fields which are the equivalent of
the P17 n°7°v and pay him with these fields; as the X3 states later that if
the debtor (who is also a 7 and is divorcing his wife) possesses only
n 2o, then they all (the pr1, the Mm% and the 7wX for her 37{311‘13) collect

from the n°7129%. There is no obligation for the 21 to purchase N>7°y to satisfy the pr.
Therefore the X712 could not have cited this example.

MmooIN continues to offer other cases which the X could hfve mentioned:
— NADYT HTO¥9 PO13T HY20TT 1D 9199199 981 MIN PNV )N 0D DY IN 110

However if we assume that the values of properties are assessed ‘at large’
(and not the n*7°v of the s'P*m fields), the X3 could have offered an
alternate case; if for instance the n 112t of the pot» was like the ns 7y at

large (the ?m owned very high quality fields, and his worse fields were equivalent to
what is generally considered n°7°Y) -
— PV NYN N5 25N HRYNY? 239D) 519992930 119 1929 NPY 224907

! The difficulty with the case the X3 mentions is that ¥ is 92 and > is 972, This would seem to
contradict what mpoIn mentioned in the previous > 77"7 that the expression of X?X 211377 X2 KXY indicates
that ¥"1 is 9p>». In the (three) cases that MooIN suggests ¥ is the .

% y"1 would maintain that the ?°1a pays his N7y (which is 117 n>112°13) and "1 would maintain that the 1
must obtain the equivalent of p1°17 n°7¥ and pay off the 11 with it (we cannot say this because ...).

? The m9n generally collects from n°113°2 and 7w N3 collects from N2,

* The ®m3 later has an X°vX according to ¥"7 (who maintains 117 n*7°V), whether the p°1 need (only) pay
with fields that are generally considered n>7°¥ (even though the °1 owns better quality fields), this is called
1R 37 027 Ww3; or is the P obligated to pay the best of his fields (Paw 177 19w2) even if they are superior
to Xno¥T NPT,
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Then according to ¥''1 we collect from the nsm12%r (of the 1), since it is
X177 n°7°v0; however according to ' the P11 would be required to pay

an equivalent of P1517 N7V (even if they are better than 7 nn21 [which are
equivalent to X»9v7 n>7°¥], and are the equivalent of P17 n>7Y).

mooINn presents an additional case the X713 could have mentioned:
— PNT DY P93D NP NOTT 9929130 281 MN PNRY 1N 1YW 9INT INNIY 199N)

And even according to the one who maintains that we assess according
to his field (of the p11) not in the general market, the X723 still could have
said that there is a difference (between "7 ¥"1) in a case where the P31

does not have the equivalent of the 21517 n375Y (only lesser quality fields), then -
— HNPNY? 395 4D DY 20 INX G TIINT INNPYT

According to the one who maintains that the P is required to pay either

money or 3w, then according to ' the P> will be required to pay ne>3,
since 2v°n1 refers to P17 2V and the P11 does not possess the P1°17 207 -
219V 209191 NN DYYI XY NPY 7999

However, according to ¥''9, the P> is only required to pay with his 2w
(and not with 702); since 1™ PTAT2.

Summary
The X3 could have mentioned a case where Xn9y7 n>7°v3 po1a7 n°127T, if we

maintain PRY 37 09 w2 (according to ¥" he pays RnbvT n7v and
according to °"7 it is P17 N°7°Y); or where the 21 does not have P17 N°7°v>
and we maintain 2V X 703 W (according to ¥"7 he pays p1»7 n°7°Y and
according to °"1 he pays n02).

The m>n is never obligated to purchase fields in order to pay n>7vn.

Thinking it over

1. mpoIn proves that (according to °") the P°1» 1s not required to buy the
equivalent of 21717 n>7°¥ and pay him, from the fact that the Xn»12 states X
NI 72 P23 2910 N2 XOR 9. However it seems that the Xn»03 there is
following the opinion that 12w p*172 (hence the discussion whether 1722
or 1MW 37 7Y Swa), which is the view of ¥"7; however here that we are
discussing the view of °"7 who maintains 1% p1172, perhaps the pom is
required to buy °pr17 n°Ya?

2. Why indeed did the X713 not mention the cases which moon suggests?’

% X, 7P X177 2. He maintains that the P> cannot pay with 190%u»; only with N7y or 503.
6 "

See 1"nR.
" See iin mx 7"20.
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